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A 12| 7148 | - /154 L T
323' +10] 10.9/12.8 - - -
+8 | 8.9/10.8 - /114 2 1
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135 +10 - - 20.9 | 18.9
+8 | 22.9 - 189 | 16.9
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+10 1249 (229|209 | 189 | 109 | 109 | 109 | 10.9
+8 12291209 | 189 | 169 | 8.9 3.9 8.9 | 89
149 1129 | 109 | 69 | 09 0.9 09 | 09
-10 | 149 1129|109 | 89 | 0.9 0.9 09 | 09
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Slowlro Jguo
ng n ti Doty n; n tii ng. ny, tg
1 2 28.9 57.8 22 2 14.9 655.6
1 2 26.9 53.8 22 2 12.9 567.6
1 9 24.9 224.1 22 9 10.9 2158.2
1 22 229 503.8 22 22 8.9 4307.6
1 22! 14.9 327.8 22 92, 0.9 415.6
1 8 14.9 119.2 22 8 0.9 158.4
1 5 14.9 74.5 22 5 0.9 99.0
1 1 14.9 14.9 22 1 0.9 19.8
5 2 26.9 269.0 9 2 14.9 258.2
5 2 24.9 249.0 9 2 12.9 232.2
5 9 22.9 1030.5 9 9 10.9 882.9
5 22 209 2299.0 9 22 8.9 1762.2
5 22 129 1419.0 9 22 0.9 178.2
5 8 12.9 516.0 9 8 0.9 64.5
5 5 12.9 322.5 9 5 0.9 40.5
5 1 12.9 64.5 9 1 0.9 8.1
8 2 24.9 398.4 2 2 14.9 59.6
8 2 22.9 366.4 2 2 12.9 51.6
8 9 20.9 1504.8 2 9 10.9 196.2
8 22 18.9 3326.4 2 22 8.9 391.6
8 22 109 1918.4 2 22 0.9 39.6
8 8 10.9 697.6 2 8 0.9 14.4
8 5 10.9 436.0 2 5 0.9 9.0
8 1 10.9 87.2 2 1 0.9 1.8
22 2 229 1007.6 2 2 14.9 59.6
22 2 20.9 919.6 2 2 12.9 51.6
22 9 18.9 35422 2 9 10.9 196.2
22 22 16.9 3179.6 2 22 8.9 391.6
22 22 8.9 4307.6 2 22 0.9 39.6
22 8 8.9 1566.4 2 8 0.9 14.4
22 5 8.9 979.0 2 5 0.9 9.0
22 1 8.9 195.8 2 1 0.9 1.8
> =50544.9
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t =10.04 [min
™ 5036 [min]
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t,=0.67t,, [min]

t =0.67x10.48=7.02 min/train
t,=ax0.25 [min]
t., =4x0.25=10 [min]

b= L [trains/day]
LTI, 1,
L ta0 140 ="77.84 =78 [trains/day]

T 1048+7.02+41.0 18.50
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t. =0.33x10.48 =3.46 min/train

L 60 60
10.48+3.46+1.0 14.94

=4.02=4 [trains/hour]
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t. =0.67x10.04 =6.73 min/train

~ 1440 1440
10.04+6.73+1.0 17.77

=81.03 =81 trains/day

t, =0.33x10.04 =3.31 min/train

] 60 60
10.04+3.3141.0 14.35

=4.18=4 trains/hour
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